
11 - 2016
DUB183Z / DUB183SF

18V LXT Blower with Long Nozzle

20

15
16

17

19

9

10

11

6

7

2

2

3
4

12

1

13

13

5

14



Item No Type Sub Part No Description Qty Unit
001  KW00000210 TAPPING SCREW M4X18 4 PC.
002  TP00000112 FAN HOUSING SET 1 SET
003  KW00000220 PAN HEAD SCREW M5X8 1 PC.
004  KW00000160 SPRING WASHER M5 1 PC.
005  KW00000170 FLAT WASHER 5 1 PC.
006  KW00000100 BLOWER FAN 1 PC.
007  KW00000210 TAPPING SCREW M4X18 3 PC.
009  KW00000150 MOTOR RUBBER RING A 1 PC.
010  TP00000113 MOTOR 1 PC.
011  TP00000083 MOTOR RUBBER RING B 1 PC.
013  TP00000211 MOTOR HOUSING SET 1 SET
014  TP00000084 SPRING 1 PC.
015  TP00000085 PIN 1 PC.
016  TP00000212 DIAL 1 PC.
017  TP00000209 SWITCH 1 PC.
019  KW00000210 TAPPING SCREW M4X18 6 PC.
020  GM00001116 BATTERY HOLDER 1 PC.

ACCESSORIES - See Catalogue or visit www.makita.ca for more accessories -
A01  TP00000199 LONG NOZZLE ASSY W/CURVED END 1 PC.
A01  INC. Item No. A02
A02  TP00000201 JOINT 1 PC.
A03  132025-7 NOZZLE ASSY 220MM 1 PC.
A03 INC. 414145-2 JOINT 1 PC.
A04 134182-7A NOZZLE ASSY (LONG) 430MM 1 PC.
A04 INC. 414145-2 JOINT 1 PC.
A05 --- 18V LI-ION BATTERY 1 PC.
A06 --- BATTERY  CHARGER 1 PC.
A07 --- LI-ION BATTERY ACCESSORIES 1 PC.

2 MODEL DUB183Z, DUB183SF (Updated:05/11/2018)


	DUB183Z, DUB183SF - PAGE 1
	DUB183(PB)
	DUB183Z, DUB183SF


